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KA &t E: 1588 =1 100m Fly 1:00.58 8
AXK &Eth i 158k &1 200m Fly 2:10.60 9
dHE AKX L] 158 $3 400m M 4:41.00 9
HE AKX 2 158% 3 200m IM 2:12.11 9
BTER et 5 1458 th2 400m IM 4:25.77 12
BT AR ] 145% f12 200m IM 2:07.35 11
=R s 2 148% g2 100m Fr 1:01.55 7
B R = 145 a2 50m Fr 0:28.00 7
il K g 148 g2 400m Fr 4:02.70 11
Al Kt ;] 148 2 200m Fr 1:55.33 11
B K ;] 1458 th2 100m Fly 0:58.85 10
BH K ] 145% 2 200m Fr 1:57.62 10
BraEs kg 148 g2 100m Fr 1:00.95 9
BrBEAR i 1455 th2 100m Fly 1:06.60 9
e i e i 1458 g2 100m Fr 1:00.45 10
Bragiag 9 1458 a2 200m Fr 2:09.10 10
HH = 1458 g2 100m Fr 1:01.49 9
WHE # 145% 2 200m Fr 2:13.60 9
W w B 138 ol 100m Br 1:13.30 8
IWE 7 ;. 138 1 200m Br 2:33.36 9
#T B 2 138 ol 400m IM 4:52.43 9
ET & & 138% f1 100m Br 1:11.49 9
TH BX = 1358 =k 100m Ba 1:02.78 10
T BX B 138 1 200m Fly 2:12.21 10
&F 5% % 13 Fi1 100m Fr 1:05.42 8
&7 8% T 138 f1 100m Br 1:18.94 8
AKX BE 3 135% g1 100m Fr 1:02.97 9
AR F=E k-4 13%% a2k 200m Fr 2:17.51 8
=EE E x 12 N6 200m IM 2:34.85 9
EEEHE s 1288 6 50m Fr 0:30.00 9
IngE BETE g9 128% G 50m Fly 0:32.72 8
JOEE BEAE % 125% /6 100m Fly 1:13.98 7
=T ¥ S 12i% NG 200m IM 2:36.56 9
BT ¥ g4 1258 e 50m Fly 0:33.37 8
£F Ff0 S 12/% NG 50m Fly 0:33.17 8
&F Fif T 1288 N 50m Fr 0:31.44 8
i+ BUIE % 125% NG 50m Br 0:38.08 8
HH FIE % 128 NG 100m Br 1:23.57 8




BE #X i 115 NG 200m IM 2:25.23 11
HE thA 2 118 | /6 50m Fr 0:27.18 12
Ik A B 1158 /N5 200m IM 2:45.40 8
hngE ik B 115% IN\5 50m Fly 0:33.24 8
UL #3) g 118 /N5 50m Br 0:39.52 7
Bl sl E: 118 /5 50m Fr 0:33.20 6
RE RiE E: 118 ING 100m Fr 1:07.31 8
R K * 118 N5 50m Fr 0:30.62 8

iEE R L] 118 IN5 50m Br 0:38.07 8

BB 2 118 | /M5 100m Br 1:23.02 8

L5 F % 118 N5 50m Ba 0:33.23 9

L5 #i -4 118 | /5 50m Fly 0:34.40 8

Ml e 108k 14 200m IM 2:47.78 9

ol 58 10i% ih 50rm Fr 0:31.75 9
S MR k9 108k 4 200m IM 2:43.96 10
2H MR xz 108 ha 50m Fr 0:31.73 9
& %R x 108 I 200m IM 2:37.72 11
&8 ¥H % 1088 /g 50m Fr 0:30.29 10
HRHE % 1088 /g 200m M 3:22.28 4
MK HF z 108 | /M4 50m Fly 0:42.63 3

XE 7 x 108 N4 200m M 2:42.55 10

KE TE x 108 /g 50m Fr 0:31.72 9
thHE T8 o 108% 4 200m M 3:18.61 5
thiE FE z 108 N4 50m Fr 0:39.49 4
BHEE %= 1088 /M4 200m M 2:48.03 9
B EE g3 108 /4 50m Fr 0:32.07 9
BE Bt -y 108 | /M4 200m IM 3:04.06 7
HEE #1E = 1088 N 50m Fr 0:34.31 7
RiR Inf = 108% | /M4 200m IM 3:04.16 7
FIF B4 & 108 4 50m Br 0:43.65 7




+THEE g O N3 200m M 2:55,25 9
LHEE E:] oO% /N3 50m Fr 0:34.96 8
EHEE 2 Ok /3 200m IM 3:.05..95 8
EHEE B OR% N3 50m Fr 0:36.47 7
Hh HikE % O 3 200m IM 3:31.42 4
M HikE L] OB N3 50m Fr 0:42.17 4
f8H HEX E:] 9% /3 50m Fly 0:35.99 9
£/ KX 8 9% 3 50m Fr 0:32.98 9
R EH ] OB N3 200m IM 3:30.81 5
KI EH 8 ) M3 50m Br 0:48.62 5
H_E Bk k=4 Ok /h3 200m IM 2:50.51 10
HE B = O /3 50m Fr 0:32.78 10
HE Bt =S O N3 200m IM 3:11.25 7
HE 51t =y O M3 50m Fr 0:37.86 6
WE X # O N3 50m Fly 0:36.77 9
WWE X = o N3 50m Br 0:44.70 8
5K BIY S O 3 50m Ba 0:39.54 8
AR BT z 98k N3 50m Fr 0:34.86 8
2EE—8 5 8% 2 50m Fr 0:41.93 Fs
BEE—H L] 8k h2 50m Fly 0:45.95 6
5l R4E 5 8 2 50m Ba 0:43.27 9
il BE 2 S 12 50m Fr 0:39.07 8
FHE FH B 85 N2 50m Fly 0:42.87 8
FHE #4h 5 8H% h2 50m Fr 0:43.69 6
BEH B4 L] 8 N2 50m Br 0:47.50 9
B B 2 8 N2 50m Fr 0:35.84 11
=Y iR =kl i 85 Y] 50m Ba 0:41.41 10
BiE B 2 8i% h2 50m Fly 0:44.46 7
K #ETH - 8% h2 50m Br 0:49.20 8
K #ETH z 8i% h2 50m Fly 0:43.51 7
BH RR # 8% N2 50m Ba 0:37.80 13
Ef BF k- 8% h2 50m Fly 0:36.88 12
Frig 7.5 xz 8% N2 50m Br 0:49.19 8
R Z 3 = 8 2 50m Fr 0:39.71 8
KAEDAD -y 8i% N2 50m Fly 0:42.54 8
i e P 3 8% 2 50m Fr 0:38.78 9
KB & x 8i& h2 50m Ba 0:46.24 7
AE & Iz 8i% h2 50m Br 0:51.82 7
28 ¥XE = Sk I3 200m IM 3:30.50 8
28 ¥E k-9 8ik N3 50m Fr 0:39.85 8




